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PHY1520H Graduate Quantum Mechanics. Lecture 8: Dirac equation in
1D. Taught by Prof. Arun Paramekanti

Disclaimer — Peeter’s lecture notes from class. These may be incoherent and rough.
These are notes for the UofT course PHY1520, Graduate Quantum Mechanics, taught by Prof.
Paramekanti.

Schrodinger Derivation — Recall that a “derivation” of the Schrodinger equation can be associated with
the following equivalences

E < hw + ih;t (1.1)
.0
p < hk < —zhg (1.2)

so that the classical energy relationship

E-= 2Lm (1.3)
takes the form
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How do we do this in a relativistic context where the energy momentum relationship is

E = \/p?c? + m2ct
P (1.5)
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where m is the rest mass and c is the speed of light.

Attempt 1
2

E=mc®+ 2% S T O 1 (1.6)

First order in time, but infinite order in space 9/dx. Useless.



Attempt 11

E? = p2c2 +m?ct. (1.7)
This gives
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—h ﬁ=—hcﬁ+m(:l[]. (18)

This is the Klein-Gordon equation, which is second order in time.

Attempt III ~ Suppose that we have the matrix

c  mc?
[nfcz —pc} ’ (1.9)
or
mc*  ipc
—ipc —mc?|’ (1.10)

These both happen to have eigenvalues A+ = ++/p?c?. For those familiar with the Dirac matrices,
this amounts to a choice for different representations of the gamma matrices.

Working with eq. (1.9), which has some nicer features than other possible representations, we seek
a state

_ wl(x/ t)
¥ = [%(x, t)} / (1.11)

where we aim to write down an equation for this composite state.
op
h—- =H 1.12
Assuming the matrix is the Hamiltonian, multiplying that with the composite state gives
iha% B [ pc mcz} [lpl(x, t)]
Zhaa% mc? —ﬁC lPZ(xr t) (1.13)

_ [ﬁctl)l + mc2¢2:|
~ |mctpy — peyn |

What happens when we square this

L 9\?

_ { ﬁcz m(iz] [ ﬁcz m(iz] " (1.14)
mc®>  —pc| |mc® —pc

B ﬁzcz + m2ct 0

B 0 p?c? + m2ct



hza2 = (p2c? + m?>c*) 1 1.15
— ﬁ¢—<pc+mc>1/;, (1.15)

or more exactly

2 82 ~2 2 2.4
—h wlpllz = (p c-+m-c >IIJ1,2. (116)

This recovers the Klein Gordon equation for each of the wave functions 1, ¢».

Instead of squaring the operators, lets try to solve the first order equation. To do so we’ll want to
diagonalize H.

Before doing that, let’s write out the Hamiltonian in an alternate but useful form

1o [0 1
H=pe [o —1]“’“ [1 0} (1.17)
= pc0; + chﬁx.

We have two types of operators in the mix here. We have matrix operators that act on the wave
function matrices, as well as derivative operators that act on the components of those matrices.

We have

~ (P11 _ | ¥

oft)-[3)
and

~ P |2

. M } [wl] | 1

Because the derivative actions of p and the matrix operators are independent, we see that these
operators commute. For example

_ [—i’i%’ﬁ] (1.20)

Diagonalizing it~ Suppose the wave function matrix has the structure
P = Bﬂ e (1.21)

We'll plug this into the Schrodinger equation and see what we get.



